
        CHEM  2062 -  Spring 2008 - Exam #4           Name ________________________
1. (5 pts)  Give the common  and  IUPAC name of the following compound. 
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2. (7 pts)  Write the mechanism of the following Wittig reaction using the phosphonium ylide shown and benzaldehyde.                
[image: image2.wmf]O

H

P

P

h

P

h

P

h

C

H

3

H

H

H

C

H

3

P

O

P

h

P

h

P

h

+

+


3. (36 pts,  4 each)  Give the major product(s) or the reagents needed or starting material for the following transformations.  Be sure and indicate stereochemistry where necessary.
a)
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4. (8 pts)  Give the step-wise mechanism – including the initiation, propagation and one possible termination reaction - for the following polymerization reaction.  
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5. (7 pts)  Show how you could make the following amine from butanal .  
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6.  (8 pts)  Give the complete mechanism of the following reaction.
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7.   (7 pts)   In the following Diels-Alder reaction, the 1, 4 product shown is the major product, while the 1,3 product below is the minor product.   Briefly explain why the 1,4 product is the major product. 
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8. (11 pts)  Prepare                                            
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             Show all reagents and the structure of the product after each step.

9.   (11 pts)  Design a synthesis using the given starting materials and any other needed reagents to make the compound shown below.  Show all reagents and the structure of the product after each step.
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